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2Fe** + Sn** < 2Fe* + Sn**
2 Gpadll
=L psaonnd) slaes 0. 1N 0 5SS sl Jslae (50 100 m 8 _las 4 )2

0.2 N oS sl



lla liaS AN Zaud) psall ks
S Qs 3k ol o slall S
2021/2020 )yl plall claas) ad

Jsial
dag) 1) Alebud)
1t
IS Lagia JS (381 sall l) agadl 5 Jeliill Caias ilalas 40U (S
2Fe’" +2e — 2Fe** E°Fe’'=0.77v

Sn*" +2e < Sn** E°Sn**'=0.17v
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E(Fe’*")= E°(Fe*") - 0.059/2 log [Fe*']*/[Fe**]?

E(Sn:*") = E°(Sn*") - 0.059/2 log [Sn**]/[Sn*']

E(Fe>")=E(Sn*")

E°(Fe’") - 0.059/2 log [Fe*'|*/[Fe**]*= E°(Sn*") - 0.059/2 log [Sn**]/[Sn*"]
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2/ 0.059 (E°(Fe*" ) -E°(Sn*")) = (log [Fe?*]%. [Sn*]/[Fe**]2. [Sn*'))
=2(0.77 - 0.15)/0.059 = log K =21
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0.1 x 100 =0.2 x V~
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(0.1 x 100)/0.2 = 50 ml

[Fe*™] = (10x0.2)/110 = 0.0182
[Ce*]=(0.2¥10)/110 = 0.0182

S A - axal)
[Fe"]1=0.1 - 0 ml
[Fe*"] = (100%0.1-10%0.2)/110 = E =E°Fe”” - 0.059/1 log 10 ml
0.0727 [Fe™ J/[Fe™] <) Vs Ji

=0.77 - 0.059 log (8/110)/(2/110)
=0.77-0.059 log 4 =0.7345

[Fe*'] = [Ce*']
[Fe™] = [Ce™]
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o aa oaliled) aeas E =E°Fe™ - 0.059 log [Fe~ )/[Fe’"] 50 ml
E =E°Ce4+ - 0.059 log Al A s

[C e"’*]/ [C e4+]
2E = E°Fe3+ + E°Ced+ - 0.059 log
([Fe J[ce™ /([Fe™][Ce*])

E = (E°Fe’™ + E°Ce*M)/2
=(1.44+0.77)2=1.11v

[Ce’]=(100%0.1)/160 = 0.0625 E =E°Ce* - 0.059/1 log 60 ml
[Ce*"] = (60%0.2-100%0.1)/160 = [ce*)ce* Al ks 3y
0.0125 = 1.44 - 0.059/1 log (1/16)/(2/160)

[Fe*"] = (100x0.1)/160 = 0.0625 =0.9653




